
myF : igjfurpd; Njw;wk; 
 
cjhuzk; - 1 
Kf;Nfhzp ABC apy; A apypUe;J BC tiuag;gl;l nrq;Fj;jpd; mb x MFk;  
AC2 = AB2 + BC2 - 2BC    BX vd epWTf 
 
 
   nrq;Nfhz Kf;Nfhzp ACX ,y; igjfurpd; Njw;wg;gb AC2 = AX2 + XC2  1 
 

   nrq;Nfhz Kf;Nfhzp ACX ,y; igjfurpd; Njw;wg;gb AB 2 = AX2 + BX2  2 
 
 
     

  

1 - 2  AC2 - AB2 = AX2  -AX2 + XC2 - BX2 
 
AC2 - AB2 = XC2 - BX2 
 
Mdhy; 

XC = BC - BX 

/ AC2 -  AB2 = (BC - BX)2 - BX2 

  = BC2 - 2BC. BX + BX2 - BX2 

AC2 - AB2 = BC2 - 2BC. BX 

/ AC2 = AB2 +BC2 - 2BC. BX 

 

 

(ghlE}ypy; 17.2 gapw;rpia Nkw;nfhs;f) 

 

 

igjfurpd; Kk;ik 

nrq;Nfhz Kf;Nfhzj;ij mikf;ff;$ba %d;W ngWkhdq;fSk; igjfurpd; Kk;ik MFk; 

 

 

 

 (3> 4> 5)   (6> 8> 10) 

 

 

 

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

 

ghlk;:  fzpjk; 

juk; : 11 
S.SUJI 
Kg/Golinda Tamil Kanista Vidyalayam 

 

thuk;  - 19 



igjfurpd; Kk;ikiaf; fhZk; Kiwfs; 

   jug;gl;Ls;s Kf;Nfhzpapy; nrk;gf;fk; C vdpd; 

   a = x2 - y2, b = 2xy, c = x2+y2 

 

 

(x , y vitNaDk; ,U vz;fs;) 

x = 8, y = 6 MFk; NghJ 

a = x2 - y2 = 82 - 62 = 64 - 36 = 28 

b = 2xy     = 2 X 8 X 6 = 96 

c = x2 + y2 = 82 + 62 = 64 + 36 = 100 

(28> 96> 100) vd;gJ Kk;ikahFk; 

 

 

xw;iw vz;zpy; njhlq;Fk; Kk;ik 

 

 

 

 

  (3> 4> 5)     (7> 24> 25) 

 

,ul;il vz;zpy; njhlq;Fk; Kk;ik 

(i) . 

 

 

 

   (4> 3> 5) 

 

 

(ii) . 

 

 

 

   (8> 15> 17) 

 

 

(ghlE}ypy; 17.3 gapw;rpia Nkw;nfhs;f.)  


